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Total score: 23

Q

Score

Marker commentary

70

This question provides evidence for 70 because the candidate
has gained at least 1 o grade and at least 7 marks overall.

The candidate has two sufficient comparisons across different
diagrams of fuel and fuel use including estimated proportions.
They have identified and applied the correct margin of error
calculation with an indication of some uncertainty. The
candidate has identified two appropriate differences or
similarities in trends before and after heatpump installation
across figures 3 and 4 with numerical evidence. They have not
identified a valid difficulty when interpreting figure 4, however,
they have identified an appropriate way to visualise the data
for easier comparison.

6s

This question provides evidence for 6s because the candidate
has gained at least 6 marks overall.

The candidate has provided a description and example of an
appropriate deviation calculation. The candidate has correctly
identified the use of binomial distribution and has given two
key features in context. They have used an incorrect
probability so have not calculated an appropriate probability.
The candidate has correctly interpreted the difference
between the two means and has correctly used the tail
proportion to reject the claim. The candidate has discussed a
paired comparison experiment but has not discussed random
allocation of treatment order or discussed factors that may
need to be controlled.

5s

This question provides evidence for 5s because the candidate
has gained at least 5 marks overall.

The candidate has not demonstrated an understanding of
measures of central tendency and variation in context. They
have identified parameters and have calculated an appropriate
probability for Sydney. They have not identified an appropriate
distribution model for Vancouver, however, they have gained a
mark for continuity as they used appropriate parameters with
the model to calculate a probability for Vancouver. The
candidate has demonstrated understanding of the need for
random allocation in an experiment and that an observational
study cannot make a causal claim. They have not discussed
the limitations of causal claims made from an experiment or
random selection and the extension of results from an
observational study.




5s

This question provides evidence for 5s because the candidate
has gained at least 5 marks overall.

The candidate has identified two of the sampling scenarios
and has discussed potential issues with one of these
scenarios. They have not adequately compared sample means
and have not interpreted the bootstrap confidence interval.
There is some confusion around what it means when a
bootstrap confidence interval contains zero so they have not
gained credit for this question. The candidate has described
the relationships of two cities from a bivariate data display
separately and has made a valid comparison between the two
cities. They have discussed how to change the sampling
process to make comparisons fairer between the two cities.






